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[Power method]
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[Arnoldi process]
a1 =z /|l
for k=1,2,3,...
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for j=1tok
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end for
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end for
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[Lanczos process]
50 =0, g1 =0, q1 =z /||
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end for
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EP8000 /690Turbo

Matrix Market

Lanczos
TR-Lanczos

Matrix n nz Gap
bcsstk16 4884 147631 0.58
besstkl7 10974 219812 0.88
bcsstk18 11984 80519 0.73
besstk21 3600 15100 0.13
bcsstk23 3134 24156 0.98
besstk24 3562 81736 1.00
besstk25 15439 133840 1.00
bcsstk35 30237 740200 0.99
bcsstk36 23052 583096 0.82
bcsstk37 25503 583240 0.60
bcsstk39 46772 | 1068034 0.34
crystk02 13965 491274 0.99

Gap=(4, - A100)/ 44




(2)

< 10—10

| o

| Ax = x@1 /

100

30

I\IE
TR

Z0M1sA10
6EMISSIC
LEX3880q
9EX1880q
GEMISSI(
GIssaq
(A IS
eAISSIq
T2XIss0q
8T1Ss0q
LT1889(
9T1sS9(

20140
6ENISSI
LE1882q
9EX1859(
GEMISSI(
GoISSIq
(LAY
YA IS¢
TOfssoq
8T1s9(
LTI8S9(
9TISS9(




(3)
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